29.4.2020

1.Check through answers from last week
and, if you have any corrections,
identify where you went wrong and
correct your work.

2.Arithmetic - Spring test 6



Spring Test 6

Spring Test 6 (continued)
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30.4.2020

https://www.bbc.co.uk/bitesize/articles/z6jhpg8

1. Watch video clips as a reminder of
strategies.

2. Complete the Abacus TB page for your

Maths group. Ask someone to check over it
for you.


https://www.bbc.co.uk/bitesize/articles/z6jhpg8
https://www.bbc.co.uk/bitesize/articles/z6jhpg8

Adding and SubTracting whole nurbers

Miss Crofton

thip shop made profits'of £15300 last
ar. they made profits that were
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Copy and complete these additions and subtractions.

O 28+ 5298

€) 67423 _28416=[ ] 63+490 =1
€) 12406 + ] = 174 ) 830715999 =[]
) 8429°43496¢ 7346297 + 1548

€ 10000 - 9417=) D 34

Now solve wnese word problems.

an Anna. Alt ot
p.bave the childe

P16
Miss McAnally



Solve these word problems.

() Smoll green apples are 25p eact ed

pples are 37p each. David has | spend
y small green o - duy for
this amount? How many large re

ter the long ]ump ports doy Contlyn

© Caitlyn and E

P17
Miss Barry



1.5.2020

Add and subtract decimals

Miss Crofton/ Miss McAnally- complete
questions on the next powerpoint slide.
REMEMBER TO DO Q17 and check your
answers.

Miss Barry- questions 9-17 from powerpoint
and Abacus TB P 19.



Miss Crofton/ Miss McAnally

Adding and subtracting decimals @

Choose whether to use a mental strategy or a written
method to work out each calculation.

1.3:9+26=01 9. 6-:04-1-98 =011
2.35-25 -18-63 = [ 10. 352-9 + 3-45 =[]
3.1-84 -0-23 = [ 11. 2.2-0-718 = [

4. £16-88 + £3-47 = [ 12. 6-48 +3-57 = [

5. 38-65 + /-89 + 3-25 = [ 13. 11-03-9-95 =
6. 10 -3-47 =0 14. £20 -£6-89 = I
7.26-74 +0-99 = 15. 7-5+3-9+2-8§=[1
8. 4-08 + 25-61 = [ 16. 27-43 - 18-76 = [

17. Check your answers using addition or subtraction. Make sure
you are correct!




Solve these problems.

P19

0 ﬁ I ! ‘ Miss Barry
20" [ ] 06 -7

Ansy stions.

) Write the two Aumbers that have a difference of 0-5.
5 - 65

() Wnte the two.aumbers thathave a difference o
0-2 -2 -2:2

Now re these v ord preiioms,

€} Ajug of squash holds 2-5. Each'glass can hold 0-351.
Marios f losses. How osh is leftdn

0 A - . phant bm talll A female
aleph » short ow tall i ?
© o s 1-8kg. A s

27 kg l ow much do the 9k in total?




4.5.2020 https://www.bbc.co.uk/bitesize/articles/z6ynscw

1. Work through slides 1-9 on bitesize link then slides 1-4

Solving Problems Solving Problems

l Ascho 1 h [d a local charity disco. The A family live 265 miles away from their
| € £45 for a DJ, £21.67 f grandparents, who they visit over the

dri k d 636f r food. The ticket sales holidays. While away, they visit friends
make 19850 and the food and dri k ll

for £176.28. How much profit has
ra

who live 375 miles frum where thug are [
staying, and they driv

go shopping. Includin g return trip, h
mugm( wllthg! lltgth

2. Complete Open the Box questions
* Miss Crofton ** Miss McAnally *** Miss Barry


https://www.bbc.co.uk/bitesize/articles/z6ynscw
https://www.bbc.co.uk/bitesize/articles/z6ynscw

&, prs Flood has 1933 pencils at the beginning of the school year. In term one, 343
pencils are wsed and in term two, 82 7 pencils are wsed.

Dpen the an How many pencils are left remaining to use in term three?

Show your workings.

I can selvwe problams with more than one step.

Kigran needs to run 2500 metres. In the first ten minutes he runs 639 metres and in
the second ten minutes he runs 794 metres.
How much further does he still need to run?

b Fish: £3.55
Chips: £1.29
Grovy: £0.75
Penz: £0.90
Nigel has £5. He wants to buy fish, chips and peas.
How much more money will Nigel need?

Show your workings.

Show your workings.
Chocolate bar- £1.39
Pock of marshmallows: £2.47
Pocket of sweets: £1.76 ) o )
Special Offer: Any three items for £4.10 b A bottle holds two litres of freshly squeezed orange juice. Denver fills three glosses with
How much money will Len save by buying one of each item using the special offer? orange juice. He puts 170 millilitres in each glass.
= o e f " Pee How much arange juice iz left in the bottle?
Show your workings. -
Show your workings.
‘Yunn and Chan are trying to find out how many star jumps they con do in two e

minutes. In the first minute, Yuon completes £8 star jumps and in the second minute,
he completes 66 star jumps. Chan completes 184 star jumps — _
What is the difference between the amount of star jumps — e M ISS CrOfton

completed by ¥uan and Chan? | ,-*—::"'——f.,__;ﬂj
Show your workings. llj ) '{_J’Jﬁl I |I
| //
[ ° I
"
'x\\ Q__ .
.
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Open the Box

I can selve problems with more thon ona step.

Toy car: £12 49

Board game: £25.38

Building blocks £34.39

Amil and Rikard want to buy one of ench toy. Amil rounds the price of each toy to the
nexrest £10 ond adds them together. Rikord odds the exoect price of each toy together.
What iz the difference betwesn Amils and Rikord's total?

Show your workings.

Circle the correct answer. £2 26 £0.26 £12.26

Woolly hat- £11.75

Gloves: £4.95

Aydin hos a twenty-pownd and o ten-pound note.

How much change will he receive if he buys two woolly hots and o pair of gloves?

Show your workings.

Circle the correct answer. £1.25 £1.65 £1.55

Miley and James exch hove zome money. Altogether, they hawe £3.20. Miley gives James
20p so that they both howe the same amount.
How much money did they ecch hove at the stort?

Show your workings.

Circle the correct onswer.
Miley- £1.30 James: £1.50 Miley: £1.70 Jomes: £1.50 Miley- £1.70 James: £170

& Class A hos o roce. Kot's time is 47 seconds. Charlie finishes nine seconds before
rCuT_ Maria finizhes 14 seconds after Charlie. Birkir finishes 26 saconds before Marin.
What iz Birkir's time in seconds?

Show your workings.

Circle the correct answer. &2 seconds 26 zaconds 34 saconds

Coohies: £0.75 each

Bunsz: £0.20 each

Serji bought some cookies and buns. He spent £5.20.
How many of exch item did he buy?

Shon your workings.

Circle the correct anzwer.
Four buns ond one cookie Three buns and two cookies Seven coohies

Phoebe bought a ruler and a pencil. She poid £1 45 Leoh bought a ruler and o
pencilz. She paid £1.80.
How much does o ruler cost?

Show your workings.

Circle the correct answer. £0T5 £0.35 E110

Miss McAnally



Open the Box

I can solve problems with more thon one step.

Toy car: £12 &9

Board game: £25.38

Building blocks £34.39

Amil and Rikard want to buy one of each toy. Amil rownds the price of each toy to the
nearest £10 and adds them together. Rikord adds the exoect price of each toy together.
What iz the difference betwean Amil's and Rikord's total?

Show your workings.

Class A hove @ race. Kot's time is 47 seconds. Charlie finishes nine seconds before Kot
Marin finizhes 14 zeconds after Charlie. Birkir finishes 26 seconds before Marin.
What iz Birkirs time in seconds?

Show your workings.

Coobies: £0.75 each

Buns: £0.90 each

Serji bought some cookies and buns. He spent £4.20.
How maony of each item did he buy?

Woolly hot- £11.76

Gloves: £4.95

Aydin hos a twenty-pound and o ten-pound note.

How much change will he receive if he buys two woolly hats and a pair of glowves?

Show your workings.

Show your workings.

Phoebe bought a ruler and o pencil. 5he poid £1 45 Leoh bought a ruler and two
pencilz. She poid £1.80.
How much does o ruler cost?

Miley and Jomes each have some money. Altogether, they hme 83200 —
Miley gives James 20p oo that they both hove the same amount.

How much money did they each have at the start? —_—— = -—.'—"_';;.
| :;:» —-T-—:—“W
Show your workings. i P
O\ )|

Show your workings.

Miss Barry




5.5.2020

1. Play Active Maths- sort it out. Involve as
many of your family as you can and compare
your answers.

2. Mastery Checkpoint (slide 17)



SORT IT OUT!

Area of Maths: Addition, Subtraction, Multiplication and Division

Objective: Solve addition and subtraction multi-step problems in context, deciding which
operations and methods to use and why.

YOU WILL NEED... @
iuourem 7
There are downloadable

resources available to @ e TNw
accompany this lesson,

&>

Instructions:
. Put the children into teams.

. In turn children run to pick up a card.
Group calculate answer.
. Children repeat wath next card until they have completed all 6 word problems.

. Once complete, they order the answers from smallest to largest.




Afarmer has 77 pigs, 123 sheep and 115 cows.

He buys 35 maore pigsand 121 more sheep. He sells =l
of his cows.

How many animals has he got altogether?

lane iz washing cars for charity.
She washes 25 on Monday, 17 on Tuesday, 26 an
Wednesday, 19 on Thursday and 28 on Friday.
How many cars has she washed altogether?

Calculate:

(197 + 225) - (166 — 72) 222

Mzke the two sides of the calculation balance

(652 — 176) = [562 - 77)

hary collects marbles and wants to reach the target of
300.
She already has 64 yellow marbles, 47 red marbles, 42
green marbles and 28 purple marbles.
How many more marbles does she need?

Add together:
111, 222, 333, 444

Msthe of the Duy
T A & W O 085.7
fort Lkt oot

Mty of the Day
Tl L S W O 0.7
Sort i out




@®abocus Mastery Checkpoint
Have you mastered solving problems?

a) Mary is building a rectangle enclosure for her chickens. The length
of the enclosure is 22:5m and the width is 13:2 m. If she already
has 30 m of fencing, how much more does she need?

b) I'mthinking of a number. If I subtract 32 from it and then add 17,
I get 85. What number am I thinking of? Can you explain to a
friend the best way to solve this?

c)  Make up another problem like question (b) using at least two
different operations.

Champions’ Challenge

I. Two numbers have a total of 78. If the difference between
the numbers is 16, what are the numbers?

471 is exactly halfway between two numbers.

2. If one number is at least twice as much as the other number,
what could the two numbers be?

3. If both numbers are more than 40 apart but less than 50 apart,
what could they be?




